
 

  

  

 
CE880−7R_5

CE880−1R

For any colour, YW=100, E00
[max (m) chromatic value?], 
in the chromaticity diagram (x, y)
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CE880−2R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a0, b0)
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CE880−3R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a1, b1)
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CE880−4R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a2, b2)
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CE880−5R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a3, b3)
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CE880−6R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a4, b4)
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CE880−7R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a5, b5)
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CE880−8R

For any colour, YW=100, E00
[max (m) chromatic value?], 
chromaticity diagram (a6, b6)
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CE881−7R_5

CE881−1R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
in the chromaticity diagram (x, y)
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CE881−2R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a0, b0)
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CE881−3R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a1, b1)
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CE881−4R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a2, b2)
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CE881−5R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a3, b3)
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CE881−6R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a4, b4)
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CE881−7R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a5, b5)
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CE881−8R

MacAdam ellipsis, YW=100
D−series,  2−degree, E00
chromaticity diagram (a6, b6)
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TUB-test chart CE88; 2 degree observer; Illuminant E00
MacAdam ellipsis, tristimulus value Y; two times larger compared to the white surround
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